10th Workshop Functional Analysis and its Applications, September 7-12, 2015, Kočovce, Slovakia, 34-38

SYMMETRIES FOR AN INTEGRO-DIFFERENTIAL EQUATION IN A DISK

PAOLA LORETI AND DANIELA SFORZA

ABSTRACT. We investigate the wave equation with an integral term in a disk. Our goal is to write the solution as Fourier series under a radial symmetric assumption on the data. The expression of the solution obtained allows us to get explicit Ingham type estimates, and hence reachability results.

In this note we will consider

(1)
$$u_{tt} - \Delta u + \beta \int_0^t e^{-\eta(t-s)} \Delta u(s,x,y) ds = 0, \quad t \ge 0, \ (x,y) \in \Omega,$$

where \triangle denotes the Laplace operator in a circular disk Ω of radius R in \mathbb{R}^2 and $0 < \beta < \eta$. It's natural to use polar coordinates. Indeed, taking into account that in polar coordinates the Laplacian is given by

$$\triangle = \frac{1}{r} \frac{\partial}{\partial r} \left(r \frac{\partial}{\partial r} \right) + \frac{1}{r^2} \frac{\partial^2}{\partial \theta^2} \,,$$

we can rewrite equation (1) as:

(2)
$$u_{tt} - \frac{1}{r} (ru_r)_r - \frac{1}{r^2} u_{\theta\theta} + \frac{\beta}{r^2} \int_0^t e^{-\eta(t-s)} \left(r (ru_r)_r + u_{\theta\theta} \right) (s,r,\theta) ds = 0,$$
$$t \ge 0, \ (r,\theta) \in \mathcal{D},$$

where $\mathcal{D} = \{(r, \theta) : 0 < r < R, \theta \in [0, 2\pi]\}$, and solve for u as a function of t, r and θ .

For the sake of completeness, we briefly recall standard argumentations. To determine the eigenvalues of the Laplacian, we have to solve

(3)
$$- \bigtriangleup u(r,\theta) = \lambda^2 u(r,\theta)$$

(4)
$$u(R,\theta) = 0$$

To this end, we attempt separation of variables by writing

$$u(r,\theta) = \mathcal{R}(r)\Theta(\theta).$$

Then (3) becomes

$$r^2 \frac{d^2 \mathcal{R}}{dr^2} \Theta + r \frac{d \mathcal{R}}{dr} \Theta + \mathcal{R} \frac{d^2 \Theta}{d\theta^2} + \lambda^2 r^2 \mathcal{R} \Theta = 0 \,.$$

If we divide by $\mathcal{R}\Theta$, then we obtain

(5)
$$\frac{r^2}{\mathcal{R}}\frac{d^2\mathcal{R}}{dr^2} + \frac{r}{\mathcal{R}}\frac{d\mathcal{R}}{dr} + \frac{1}{\theta}\frac{d^2\Theta}{d\theta^2} + \lambda^2 r^2 = 0.$$

The function Θ must be sinusoidal, that is

(6)
$$\frac{1}{\theta}\frac{d^2\Theta}{d\theta^2} = -n^2,$$

and hence, for $a_n \in \mathbb{C}$ we have

(7)
$$\Theta(\theta) = a_n e^{in\theta} + \overline{a_n} e^{-in\theta}.$$

²⁰¹⁰ Mathematics Subject Classification. 45K05.

Key words and phrases. Integrodifferential wave equations, convolution kernels; Fourier series.

Plugging (6) into (5), we obtain

(8)
$$r^2 \frac{d^2 \mathcal{R}}{dr^2} + r \frac{d\mathcal{R}}{dr} + (\lambda^2 r^2 - n^2)\mathcal{R} = 0,$$

with the boundary condition $\mathcal{R}(R) = 0$. We can eliminate λ^2 from the previous equation by making a change of variables. Indeed, if we set $x = \lambda r$, then the equation (8) becomes

(9)
$$x^2 \frac{d^2 \mathcal{R}}{dx^2} + x \frac{d\mathcal{R}}{dx} + (x^2 - n^2)\mathcal{R} = 0,$$

which is called *Bessel's equation of order n*. A solution of (9) is given by

(10)
$$J_n(x) = \sum_{h=0}^{\infty} \frac{(-1)^h}{h!(h+n)!} \left(\frac{x}{2}\right)^{n+2h}$$

which is called the Bessel function of the first kind of order n. It follows that a solution of (8) is given by $J_n(x) = J_n(\lambda r)$. The boundary condition $\mathcal{R}(R) = 0$ is satisfied if

$$J_n(\lambda R) = 0,$$

that is

$$\lambda = \frac{\lambda_{nk}}{R} \,,$$

where
$$\lambda_{nk}$$
, $k \in \mathbb{N}$, are the positive zeros of J_n .

We recall the following result, see [5, Section 6].

Theorem 1. Let $\mathcal{A} : D(\mathcal{A}) \subset H \to H$ be a self-adjoint positive linear operator on a Hilbert space H with dense domain $D(\mathcal{A})$. Assume that $\{\lambda_j\}_{j\geq 1}$ is a strictly increasing sequence of eigenvalues for \mathcal{A} , with $\lambda_j > 0$ and $\lambda_j \to \infty$, and the sequence $\{w_j\}_{j\geq 1}$ of the corresponding eigenvectors constitutes an orthogonal basis for H.

The general solution of equation

(11)
$$u''(t) + \mathcal{A}u(t) - \beta \int_0^t e^{-\eta(t-s)} \mathcal{A}u(s) ds = 0, \quad t \ge 0.$$

can be written as the following series

(12)
$$u(t) = \sum_{j=1}^{\infty} \left(R_j e^{r_j t} + C_j e^{i\omega_j t} + \overline{C_j} e^{-i\overline{\omega_j} t} \right) w_j, \qquad R_j \in \mathbb{R}, \ C_j \in \mathbb{C},$$

where $r_j \in \mathbb{R}$ and $\omega_j \in \mathbb{C}$ are defined by

(13)
$$r_{j} = \beta - \eta + O\left(\frac{1}{\lambda_{j}}\right),$$
$$\omega_{j} = \sqrt{\lambda_{j}} + \frac{\beta}{2}\left(\frac{3}{4}\beta - \eta\right)\frac{1}{\sqrt{\lambda_{j}}} + i\frac{\beta}{2} + O\left(\frac{1}{\lambda_{j}}\right)$$

Let $H = L^2(\mathcal{D})$ be endowed with the scalar product and norm

$$\langle u, v \rangle := \int_0^R \int_0^{2\pi} r u(r, \theta) v(r, \theta) \, dr d\theta \,, \quad \|u\| := \left(\int_0^R \int_0^{2\pi} r |u(r, \theta)|^2 \, dr d\theta \right)^{1/2} \quad u, v \in L^2(\mathcal{D}) \,.$$

The operator $\mathcal{A}: D(\mathcal{A}) \subset H \to H$ is defined by

$$D(\mathcal{A}) = H^2(\mathcal{D}) \cap H^1_0(\mathcal{D})$$

$$\mathcal{A}u = -\Delta u \qquad u \in D(\mathcal{A})$$

It is well known that \mathcal{A} is a self-adjoint positive operator on H with dense domain $D(\mathcal{A})$, the eigenvalues for \mathcal{A} are $\left(\frac{\lambda_{nk}}{R}\right)^2$ and the corresponding eigenfunctions are $J_n\left(\frac{\lambda_{nk}}{R}r\right)e^{\pm in\theta}$, which form an orthogonal basis for $L^2(\mathcal{D})$.

In order to simplify notations, we will define J_{-n} to be the same as J_n whenever n is an integer:

$$J_{-n} := J_n, \quad \lambda_{-nk} := \lambda_{nk}, \qquad n \in \mathbb{N} \cup \{0\}, \quad k \in \mathbb{N}.$$

We are going to establish the result in the 2-D case

(14)
$$u_{tt} - \frac{1}{r} (ru_r)_r - \frac{1}{r^2} u_{\theta\theta} + \frac{\beta}{r^2} \int_0^t e^{-\eta(t-s)} \Big(r (ru_r)_r + u_{\theta\theta} \Big) (s, r, \theta) ds = 0,$$
$$t \ge 0, \ (r, \theta) \in \mathcal{D},$$

Therefore, thanks to (12) we have

(15)
$$u(t,r,\theta) = \sum_{n=-\infty}^{\infty} \sum_{k=1}^{\infty} \left(R_{nk} e^{r_{nk}t + in\theta} + C_{nk} e^{i(\omega_{nk}t + n\theta)} + \overline{C_{nk}} e^{-i(\overline{\omega_{nk}}t + n\theta)} \right) J_n\left(\frac{\lambda_{nk}}{R}r\right),$$

where $r_{nk} \in \mathbb{R}$ and $\omega_{nk} \in \mathbb{C}$ are defined by

$$r_{nk} = \beta - \eta + O\left(\frac{1}{\lambda_{nk}^2}\right), \quad n \in \mathbb{N}$$

(16)
$$\Re \omega_{nk} = \frac{\lambda_{nk}}{R} + \frac{\beta}{2} \left(\frac{3}{4} \beta - \eta \right) \frac{R}{\lambda_{nk}} + O\left(\frac{1}{\lambda_{nk}^2} \right), \quad \Im \omega_{nk} = \frac{\beta}{2} + O\left(\frac{1}{\lambda_{nk}^2} \right), \quad n \in \mathbb{N},$$
$$r_{-nk} := r_{nk} \qquad \omega_{-nk} := -\overline{\omega_{nk}}, \quad n \in \mathbb{N}.$$

The coefficients R_{nk} , C_{nk} are complex numbers to determine and $\overline{R_{nk}} = R_{nk}$. If we impose the initial conditions

(17)
$$u(0,r,\theta) = f(r)e^{i\theta} + \overline{f(r)}e^{-i\theta}, \quad u_t(0,r,\theta) = 0,$$

then we obtain (R = 1, 0 < r < 1)

(18)
$$u(0,r,\theta) = \sum_{n=-\infty}^{\infty} \sum_{k=1}^{\infty} \left(R_{nk} e^{in\theta} + C_{nk} e^{in\theta} + \overline{C_{nk}} e^{-in\theta} \right) J_n(\lambda_{nk}r) = f(r)e^{i\theta} + \overline{f(r)}e^{-i\theta}$$

(19)
$$\sum_{\substack{n=0\\n\neq 1}}^{\infty} \sum_{k=1}^{\infty} \left(R_{nk} + C_{nk} + \overline{C_{-nk}} \right) J_n(\lambda_{nk}r) e^{in\theta} = 0$$

(20)
$$\sum_{\substack{n=0\\n\neq 1}}^{\infty} \sum_{k=1}^{\infty} \left(R_{-nk} + C_{-nk} + \overline{C_{nk}} \right) J_n(\lambda_{nk}r) e^{-in\theta} = 0$$

(21)
$$R_{nk} + C_{nk} + \overline{C_{-nk}} = 0, \quad \forall n \in \mathbb{N}, n \neq 1, k \in \mathbb{N}$$

$$\sum_{k=1}^{\infty} \left(R_{1k} + C_{1k} + \overline{C_{-1k}} \right) J_1(\lambda_{1k}r) e^{i\theta} + \sum_{k=1}^{\infty} \left(R_{-1k} + C_{-1k} + \overline{C_{1k}} \right) J_1(\lambda_{1k}r) e^{-i\theta} = f(r)e^{i\theta} + \overline{f(r)}e^{-i\theta}$$

(23)
$$\sum_{k=1}^{\infty} \left(R_{1k} + C_{1k} + \overline{C_{-1k}} \right) J_1(\lambda_{1k}r) = f(r)$$

(24)
$$\sum_{k=1}^{\infty} \left(R_{-1k} + C_{-1k} + \overline{C_{1k}} \right) J_1(\lambda_{1k}r) = \overline{f(r)}$$

by Fourier-Bessel series expansion

$$R_{1k} + C_{1k} + \overline{C_{-1k}} = \frac{2}{J_2(\lambda_{1k})^2} \int_0^1 rf(r) J_1(\lambda_{1k}r) dr$$

$$R_{-1k} + C_{-1k} + \overline{C_{1k}} = \frac{2}{J_2(\lambda_{1k})^2} \int_0^1 r \overline{f(r)} J_1(\lambda_{1k}r) dr$$

<u>۱</u>

- NT

(25)
$$u_t(0,r,\theta) = \sum_{n=-\infty}^{\infty} \sum_{k=1}^{\infty} \left(r_{nk} R_{nk} e^{in\theta} + i\omega_{nk} C_{nk} e^{in\theta} - i\overline{\omega_{nk}} \overline{C_{nk}} e^{-in\theta} \right) J_n\left(\frac{\lambda_{nk}}{R}r\right) = 0$$

(26)
$$r_{nk}R_{nk} + i\omega_{nk}(C_{nk} + \overline{C_{-nk}}) = 0, \quad \forall n \in \mathbb{N}, k \in \mathbb{N}$$

(27)
$$r_{nk}R_{-nk} - i\overline{\omega_{nk}}(C_{-nk} + \overline{C_{nk}}) = 0, \quad \forall n \in \mathbb{N}, k \in \mathbb{N}.$$

In view of (21) it follows

(28)

$$R_{nk} = -C_{nk} - \overline{C_{-nk}}, \quad \forall n \in \mathbb{N}, n \neq 1, k \in \mathbb{N}$$

$$(i\omega_{nk} - r_{nk})(C_{nk} + \overline{C_{-nk}}) = 0, \quad \forall n \in \mathbb{N}, k \in \mathbb{N}$$

$$C_{nk} + \overline{C_{-nk}} = R_{nk} = 0, \quad \forall n \in \mathbb{N}, n \neq 1, k \in \mathbb{N}$$

 $\overline{\alpha}$

ъ

(29)
$$u(t,r,\theta) = \sum_{k=1}^{\infty} \left(R_{1k} e^{r_{1k}t} + (C_{1k} + \overline{C_{-1k}}) e^{i\omega_{1k}t} \right) J_1\left(\frac{\lambda_{1k}}{R}r\right) e^{i\theta} + \sum_{k=1}^{\infty} \left(\overline{R_{1k}} e^{r_{1k}t} + (\overline{C_{1k}} + C_{-1k}) e^{-i\overline{\omega_{1k}t}} \right) J_1\left(\frac{\lambda_{1k}}{R}r\right) e^{-i\theta}$$

where

$$C_{1k} + \overline{C_{-1k}} = \frac{2}{J_2(\lambda_{1k})^2} \int_0^1 rf(r) J_1(\lambda_{1k}r) dr - R_{1k}$$
$$R_{1k} = -\frac{2i\omega_{1k}}{J_2(\lambda_{1k})^2(r_{1k} - i\omega_{1k})} \int_0^1 rf(r) J_1(\lambda_{1k}r) dr$$
$$C_{1k} + \overline{C_{-1k}} = \frac{2r_{1k}}{J_2(\lambda_{1k})^2(r_{1k} - i\omega_{1k})} \int_0^1 rf(r) J_1(\lambda_{1k}r) dr.$$

Suppose that the membrane is fixed along the boundary circle r = R. The initial deflection f(r) and the initial velocity depend only on r, not on θ , so that we expect that the vibration is radially symmetric. Hence the deflection u = u(t,r) at any instant t and $u_{\theta\theta} = 0$. So, in formula (6) we have only n = 0 and the Bessel's equation (9) is only of order 0. Therefore, the expression (15) for the solution is brought to

(30)
$$u(t,r) = \sum_{k=1}^{\infty} (R_k e^{r_k t} + C_k e^{i\omega_k t} + \overline{C_k} e^{-i\overline{\omega_k} t}) J_0\left(\frac{\lambda_k}{R}r\right),$$

where J_0 denotes the Bessel function of order 0 and λ_k are the positive zeros of J_0 . We note that

(31)
$$u_r(t,R) = \frac{1}{R} \sum_{k=1}^{\infty} \lambda_k (R_k e^{r_k t} + C_k e^{i\omega_k t} + \overline{C_k} e^{-i\overline{\omega_k} t}) J_0'(\lambda_k).$$

Now, by the definition (10) of Bessel functions it easily follows

$$\frac{dJ_0}{dx}(x) = -J_1(x) \,.$$

So, if we use the previous formula in (31), then we have

(32)
$$u_r(t,R) = -\frac{1}{R} \sum_{k=1}^{\infty} \lambda_k (R_k e^{r_k t} + C_k e^{i\omega_k t} + \overline{C_k} e^{-i\overline{\omega_k} t}) J_1(\lambda_k).$$

The following observability estimate holds true: If T > 2R there exist two constants c_1 and c_2 such that

$$c_1 \sum_{k=1}^{\infty} \lambda_k^2 |J_1(\lambda_k)|^2 |C_k|^2 \le \int_0^T |u_r(t,R)|^2 dt \le c_2 \sum_{k=1}^{\infty} \lambda_k^2 |J_1(\lambda_k)|^2 |C_k|^2.$$

This is an illustrative case of the general theory leading to simply the computations.

References

- C. M. Dafermos, An abstract Volterra equation with applications to linear viscoelasticity, J. Differential Equations 7 (1970) 554–569.
- [2] A. E. Ingham, Some trigonometrical inequalities with applications to the theory of series, Math. Z. 41 (1936) 367-379.
- [3] V. Komornik, P. Loreti, Fourier Series in Control Theory, Springer Monogr. Math., Springer-Verlag, New York, 2005.
- [4] J.-L. Lions, Exact controllability, stabilization and perturbations for distributed systems, SIAM Rev. 30 (1988) 1–68.
- [5] P. Loreti, D. Sforza, Reachability problems for a class of integro-differential equations, J. Differential Equations 248 (2010) 1711–1755.
- [6] P. Loreti, D. Sforza, Multidimensional controllability problems with memory, in: M. Ruzhansky, J. Wirth (Eds.), Modern Aspects of the Theory of Partial Differential Equations, Operator Theory: Advances and Applications, vol. 216, Birkhäuser/Springer, Basel, 2011, pp. 261–274.
- [7] J. Prüss, Evolutionary Integral Equations and Applications, Monogr. Math., vol. 87, Birkhäuser Verlag, Basel, 1993.
- [8] M. Renardy, W. J. Hrusa, J. A. Nohel, Mathematical Problems in Viscoelasticity, Pitman Monogr. Pure Appl. Math., vol. 35, Longman Sci. Tech., Harlow, Essex, 1988.

DIPARTIMENTO DI SCIENZE DI BASE E APPLICATE PER L'INGEGNERIA, SAPIENZA UNIVERSITÀ DI ROMA, VIA ANTONIO SCARPA 16, 00161 ROMA (ITALY)

E-mail address: paola.loreti@sbai.uniroma1.it

DIPARTIMENTO DI SCIENZE DI BASE E APPLICATE PER L'INGEGNERIA, SAPIENZA UNIVERSITÀ DI ROMA, VIA ANTONIO SCARPA 16, 00161 ROMA (ITALY)

E-mail address: daniela.sforza@sbai.uniroma1.it